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10.

fafarRaa Retee @ forw SQL Query ford |

Flight (fl no, from, to, distance, departs, arrives,
price)

Aircrafts ( a id, a name, cruising - range)

Certified (e id, a id)

Employees (e id, e name, salary)

(31) ST sHCElg @ cid I WX FA@T
AfSrean Qe 2 |

(d) S SHATT & A Ud Qo) F1d B
St UrIde T8l 2 |

Why normalization is needed ? Explain the
process of normalization. 6

At TS eE ) ATaTIhAT Al Bl 27
ArerseE @ fafsr &7 @ aW |

OR(3721d)

Explain about Boyce Code Normal Form with an
example.

I Bdis Ao BIY HI ARAT ITE0T
afed & |

Discuss in detail about SELECT , PROJECT ¢
and UNION with suitable SQL query.

SELECT, PROJECT U4 UNION &1 Sfud
SQL & gRT g4l & |

N4061 1618403
2019(Even)
Time : 3Hrs. Sem - IV/CSE
DBMS
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question

carries 4marks.
7u-B & @+t ufg yel & SR <, uAS 9 BT A 4 A 2 |

Answer all five questions from Group C, each question

carries6 marks.

7u-C & wift ufg yeal @ SR <, UAS U &1 99 6 b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |

P.T.O



O'Ld

1011d uou AI19A9 JO AIe[es pue soweu y jurld (11)
‘Axeres 1soy3iy

o ayewr oym sddKorduwd Jo pr 2 ay3 AJnuapy (1)

(Areres “oweu 9 ‘p1 9) saokojdwyg

(Pt © p1 9) paynIo)

(oSue1 - SuISINID ‘QWERU B ‘PI B ) SIPLIIITY

(9o11d ‘saarnre ‘syredap @our)sip ‘03 ¢ woky ‘ou ) s3I

1108 ut
saronb 9jum pue suone[ar 3UIMO[[0] Y} JOPISUO))

? (IlprER)AO

| 2 h23lie lukyb]

ke 222 d2R e 3 DO (2 2Od bple

b 22313 @b | 2 Aplbb 22 &) k 3212 ®h bh

@ & 1218 ekjR) 222 Phplhy) 4d kR

AR| @ RBI2IS PRR|tk] Alkb hikRIS ¢h
9

"SWA)I JO JIdqUUNU AUB JOPIO UBD SIOWOISN))

" SWIdYI JO Junowre Aue pjoy SAI0}S * SI0)S

[BIDAIS dARY AR AJ1D Y "SId)enb peay auo SI a1
K310 ® U] "SANIO [BIAJS Ul s9je1ado 2103s 1dop v
:eyep SuImol[oy JoJ weiderp Y - q ue meI(

PO ¢ @ SWAd ¢ APk 1@ 1dkfh (& Vad

4 SINA JO IM)dYITY
aseq eye(J 11 € 2qLIsa(] ¢, VA JO sojol oy urejdxg

(lekIE)AO

€0v8I191 SI T90YN

V SVH Pa[oqe[ o[3ueli], (p)
V SVH Pa]qe] 9[3ue1oay (0)
V SI Po[oqe] o[3ue10ay (q)
V SI po[oqey d[Sueli], (e)
JURISRIP YA ul pajoudp uonezierdads st Moy (1)

B3lba (»)
ki (B)
®lalr LRIPID (k)
Aale 2R (l8)
1@ 13k a23hle
IBloR) PRIZRY] @i bld B kb3 ()

utor (p)
owreudy (9)

1onpold uersale)) (q)

Q0uAIYI(] 128 (B)
s101e10d() BIQAS[Y [BUONR[AI A} JOU ST YIIYA\ )

: BR] dpLh b hodp] PhRhe dR3bh
07=07XI : suondo

SuIMO[[0J oY) WOIJ JOMSUR J[qBIINS JSOW I} 9S00 |

T90YN 4 €0V8I191



1618403 14 N4061 N4061 3 1618403

6. Describe the characteristics of DBMS. 4 (i) q E-R KRR A
_ _ &1 fewar sidr 21
DBMS & ol &1 F=i & | (1) Prget sifésa IS A

(@) smaa sifed ISA
(¥) smaa difed HAS A
List SQL grouping functions with examples. (=) s sifed HAS A

SQL & urffed &l &1 gl 917

OR (3721d)

(iii) ~ Which of the following is open source DBMS ?

GROUP - C (a) MySQL
. ] (b) SQL Server
Answer all Five Questions. 5x6=30 (c) Microsoft Access
Y uig gyl @ SR < | (d) Oracle

(i) 9 @ B9 3NUT A DBMS 2 |

7. Consider the relational schemes given below :

STUDENT (student -id, name) ENROLLED in (student-id, (37) MySQL

subject code) SUBJECTS (Subject code, Lectures), (9) SQL Server

Write relational algebra query for (&) Microsoft Access

(1) Who teaches CP 1500 or CP 3020 (@) Oracle

(i1)) Who teaches at least two different subjects 6

frafaRad Rasma @ @ fore 998 fore | (iv)  Which SQL keyword is used to remove the
STUDENT (Student -id, name) ENROLLED in (student-id, duplication of rows from the result set?
subject code) SUBJECTS (subject code, Lectures), (a) DELETE

RAel raAoidT gRT ATd &Y (b) SELECT

(i) SIF CP 1500 AT CP 3020 9gTd ® | (c) DISTINCT

(i) o1 &9 ¥ ®H < =1 faug ggrd 2 | (d) UNIQUE

P.T.O
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(xx)

Answer all Five Questions.

12 N4061

98 <9d Wl g & A1 Jsdl & S
T HEd © |

(31) Join

(@) Selfjoin

(|) Quter join

(?) Equi join

GROUPB

5x4=20

gl ufg g3 & SN < |

2. Distinguish between primary and super keys. 4

9ISl fofl T4 U Hofl H 3fdx 9y |

OR(312141)

Explain about different types of users in DBMS ?

DBMS & faff=1 JorR &1 =arean aw |

3. What is view? Explain it. 4

Q] T 2?7 FADI ARAT N |

N4061

(vi)

(vii)

(vii)

(viii)

5 1618403

s 9 feaal fifva g s @
A | ST STar 87

(31) utsHd polt

@) BT RSl

(a) gfre i

(]) dfsscT qsh

Which command allow the users to change
multiple data fields?

(a) Modify

(b) Look Up

(c) Update

(d) Change

fod Have gRT Yok Aedlual SICT
flhes &l 9ea APl &7

(a1) AT

() g®3r

(|) 3musT

(?) 9%

Which of the following language is used
to define the integrity constraint.

(a) DCL

(b) DML

(c) DDL

(d) All of these

P.T.O
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(xvi)

(xvii)

(xvii)

(xvii1)

10 N4061

S A B9 AT SIeE JAfsoide ot
gl gar|

(31) 99 <9

@) FSw

St

() 37 4 »ig &

Cross product is a ?
(a) Unary Operator
(b) Ternary Operator
(c) Binary Operator
(d) None of these

$Ig [UTH Y ?

(@) g MR 2|
(@) Y affRex 21
(7)) ST ATRex 2
() 39 9 3Ig 78

In E - R diagram relationship is represented by.
(a) Ellipse

(b) Dashed line

(c) Rectangle

(d) Diamond

N4061

(x)

(xi)

(xi)

(xii)

7 1618403

Sedd ® G¥adr ¥ fead dad 21
(31) <1 oiaa
(@) IR ddd
SIGIERGES]
(?) UP oldd

In relational model, relations are termed as
(a) Tuples

(b) Attributes

(c) Table

(d) Rows

RavFe dfed § RavE &1 dded 87
(31) <ua

@) T=ge

(|) 29«

() @

A cartesian product in relational algebra is
(a) Unary Operator

(b) Binary Operator

(¢) Ternary Operator

(d) None of these

P.T.O
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11.

OR (3721dT)

What do you mean by composite attribute and
derived attribute ? Give example.

$WIfSTe yd fevrsas udige ¥ g &
TSI B2 SQI8NUT THY qadTV |

Consider the relation R = {A, B, C, D, E, F, G, H,
I,J } and setup FDs F={ AB —C, A — DE,
B —F, F— GH ,D — IJ} Decompose R in 3NF.

6
frfafRaa Ree &t 3NFH 4qfc
R={A,B,C,D,E,F, G H,1LJ}
F={AB—-C,A—DE,B —»F, F—- GH.,D — 1J}

OR (312141)

Consider the relation R ( A,B,C) and a set of FDs
F={ A — BC, B —-C, A—»B, AB—C} compute the
cannonical cover of F.

frr=fafRaa Rede ¢d FDs @& @z & feoig
SIS $ax F1d N |
F={A— BC,B —-C, A—»B, AB—C}

fkk
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11.

OR(3721dT)

What do you mean by composite attribute and
derived attribute ? Give example.

$HIfSTe yd fevrsas udige ¥ amu &
[HSId B2 QT8I THY qadT |

Consider the relation R = {A, B, C, D, E, F, G, H,
I,J } and setup FDs F={ AB —-C, A — DE,
B —F, F— GH ,D — IJ} Decompose R in 3NF.

6
frfafRaa Ree & 3NFH 4
R={A,B,C,D,E,F,G,H,1LJ}
F={AB—-C,A—DE,B —F, F—» GH.,D — 1J}

OR(312141)

Consider the relation R ( A,B,C) and a set of FDs
F={ A — BC, B —-C, A—»B, AB—C} compute the
cannonical cover of F.

frr=fafRaa Rele ¢d FDs & @qE & foig
DIHd Hax Fd N |
F={A— BC,B —C,A—B, AB—C}
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